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Seat No.: ________                                                      Enrolment No.______________  

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGG.- III

rd
 SEMESTER–EXAMINATION – MAY/JUNE- 2012 

Subject code: 330904                     Date: 30/05/2012        

Subject Name: Generation & Transmission of Electrical Power   

Time: 02:30 pm – 05:00 pm        Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is considered to be Authentic 

 

Q.1 (a)  Explain the factors to be considered for the selection of site for a thermal 

power station. 

07 

 (b) Describe lubricating system of turbo alternator. 07 

Q.2    

 (a) Explain following term related to hydro power station 

(i)Catchment area (ii) Spill way (iii)Fore bay (vi)Surge tank 

(v)Pen stock (vi)Draught tube (vii)Reservoir. 

07 

 (b) Explain chain reaction taking place in a nuclear reactor and state 

precaution to be taken in nuclear power station. 

07 

  OR  

 (b) Explain the function of main elements of nuclear reactor with schematic 

diagram. 

07 

Q.3    

 (a) Define sag. Derive expression for sag with equi level line support. 07 

 (b) The span of line with equi level line support is 200 metre . Diameter of 

conductor is 20mm and weight 0.9kg/m, the ice coating of 10mm redial. 

The intensity of wind pressure is 40kg/m
2 

of the projected area. The 

ultimate tensile strength of conductor is 8000kg. If the factor of safety is 

2 and weight of ice 910 kg/m
3
. Find the sag. 

 

07 

  OR  

Q.3 (a) Define string efficiency, state the factor on which it depends and explain 

insulation gradding method of improving string efficiency. 

07 

 (b) In a three phase transmission system each line conductor is suspended by 

a string of three insulators. The voltage across top most and middle 

insulator is 10 kv and 12kv respectively Calculate  

(i) The ratio of shunt capacitance to self capacitance 

      (ii) Line voltage of the system (iii) The string efficiency  

07 

    

Q.4 (a) Draw load curve and load duration curve. State information available 

from load curve 

07 

 (b) State and explain equipments used in switch yard. 07 

  OR  

Q. 4 (a) Draw and explain line diagram of P.L.C.C. 07 

 (b) State the types of  H.V.D.C system and explain any one of them. 07 

Q.5    

 (a) State the function of voltage regulator and explain tirril voltage regulator 

. 

07 

 (b) State necessity of speed governor system. Draw speed governor and 

explain it.  

07 

  OR  
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Q.5 (a) State principle of M.H.D generation and explain component of M.H.D 

system. 

07 

 (b) State advantages and limitations of wind power plant. 07 
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